—BBFFITILAFTASUXV Y (7A15BBH)

B = ED HZED |EEFE|ERK  |BESF |(MED N
iz E & (B B 1.18 G5 429 G3 [5.10G8 [76G8 [8.31 G5 |9.15 G3 Ak
1[iE2 FIERLTC) 34 27 41 63 48 19 232
2/RINE EFEGERLTC) 34 27 41 63 48 213
3R HARGEUTC) 48 19 23 23 34 19 166
4|15 R HEHRENLTC) 48 19 34 27 128
5|ARM —#RGASCTT) 12 90 102
6|FIEE “WURRTC) 90 90
6|RA KEFE/\VX) 90 90
6F=E B=(F—LILT) 90 90
9|iEE8 BEIGEEIFALA) 22 41 23 86
10(BTER FAZS(NEST) 22 12 23 23 30
10|#ER B (NEST) 22 12 23 23 30
12|30 Hsh (HARTHE) 22 23 27 72
13| KEESITALA) 41 23 64
14|R1%8 #h#I(GASCTT) 63 63
14| %k 2EBLIT2) 63 63
16|38k ZF (BRUTC) 12 22 12 46
16/{F7k E A(Qoo) 12 22 12 46
18[B% E(HAIHE) 41 41
1848 FXENEESB) 41 41
18|=1 BE#ERNLTC) 41 41
18|78 HEHATIH 41 41
22|AKH EX(Qoo) 22 12 34
2|24 FELO—) 22 12 34
24| H =HE(Qoo) 23 23
24| X E %R (Qoo) 23 23
24| KR_E(SOTC) 23 23
24|BFE EZ=(FR/INAVR) 23 23
24/ EHiE(HATIH) 23 23
24| & EEGEWLR—) 23 23
24 %12 BB ARTHE) 23 23
31| K mk—(Qoo) 12 12
31|HIHE #FE(FE/NAVR) 12 12
N|BE ARGEETRAD 12 12
31[EF {ZBB(ICTC) 12 12
31|F /Il EFE(Qoo) 12 12
31|BK FEEEKIZE) 12 12
31 IWJI RIFCET ) 12 12
38 0
38 0
38 0




35BLUEBFATILRFTASYX VS (7TB15HEB#E)

B = ED HZED |EEFE|ERK  |BESF |(ED N

iz E & (B B 1.18 G5 429 G3 [5.10G8 [76G8 [8.31 G5 |9.15 G3 Ak
1|#EF7 Z2Z(Qoo) 48 90 138
20124 HENLO—) 90 90
3|t F— (JL/\—FTC) 63 63
3|# K BHKUL/N—KTC) 63 63
5|XKH EX(Qoo) 48 48
6|8 EF&HEF—LIALT) 34 34
6|t BNF—LILT) 34 34
8 0
8 0
8 0




40U EBF AT ILRFTASVX VY (7TR15HE#E)



A5 LI EBFATILRFTASYX VS (7B15BBT#E)

B = ED HZED |EEFE|ERK  |BESF |(MED N
iz E & (B B 1.18 G5 429 G3 [5.10G8 [76G8 [8.31 G5 |9.15 G3 Ak
1[KZE B (SOTO) 48 27 90 34 199
2180 SXURETC) 22 90 41 153
3|HFT FEKX(SOTC) 63 48 111
3|KH XEEILTH) 63 48 111
SEERE BthELrY) 90 90
5/ shR(hERE) 90 90
738k #5(SOTC) 48 34 82
8| Ktk FEBA(LVHENTC) 63 63
8|hE ERAILVHENTC) 63 63
8| A HKIFEMAX) 22 41 63
11/M#F EH—(Qoo) 41 41
11[ZKHE EX(Qoo) 41 41
13[;EA BR@GBIHhIFI—IL) 22 12 34
13| K F17(Qoo) 34 34
13[FH #%E(Qoo) 34 34
16| %8 EHURIETC) 27 27
16[IUA HEFI(GATC) 27 27
16[f8h E—0UL/A\—k) 27 27
19| Xk FEEGHBIHNIT7ZI—I) 22 22
19| EFE AFRGEETER) 22 22
19[iB8 FEFEMy way TC) 22 22
22|12 EFIURIETC) 19 19
22| & 1l1 HEAR(GATC) 19 19
24|8R3% #—(Qoo) 12 12
24|85 K EEE(Qoo) 12 12
24|08 K 1Eah (HEn—) 12 12
27 0
27 0
27 0
27 0
27 0
27 0
27 0
27 0
27 0




508 BFHIILARFTASYXV Y (7A158IRE)

[ = ED E=D |EEFHE (LA (RMEHF [BED e o\

iz E & (B B 1.18G5 |429G3 |510G8 |76G8 |8.31G5 |9.15G3 Ak
1Bl BRGBSMHIFI—IL) 27 90 117
2|ER FEBEGBIHITFZI—IL) 90 90
3iEER fB(IVTC) 63 63
3| XFF EHXAVTC) 63 63
5|FHIII BE—(TIZTTRDE) 41 41
5|58 BEo(ETE) 41 41
5/8R3F #—(Qoo) 41 41
58K EEE(Qoo) 41 41
9|AA AR (EaR@ENER—) 27 27
10[FHH ZFF(EFTC) 19 19
10|80 B=(EFTC) 19 19
12 0
12 0
12 0
12 0




558 BFHIILRFTASY XS (7A158IRE)

B = ED HZED |EEFE|ERK  |BESF |(ED e o\

iz E & (B B 1.18G5 |429G3 |510G8 |76G8 |8.31G5 |9.15G3 Ak
11EE AZRGEEREMTC) 90 90
1B EFEMyWayTC) 90 90
3|fEHh EFURETC) 63 63
3|E Il HAB(GASCTT) 63 63
5| KM BhAE@BIMNIFZI—IL) 48 48
5/ BAlI(GBhShIFI—IL) 48 48
5| RAR BEA—F—X) 48 48
5|=IE BR%R(ET) 48 48
9|;EER BAVTC) 34 34
9|tk EFAVIC) 34 34




60B L EBFATILRFTASYX VS (7B15HEBT#E)

B = ED HZED |EEFE|ERK  |BESF |(ED N

iz E & (B B 1.18 G5 429 G3 [5.10G8 [76G8 [8.31 G5 |9.15 G3 Ak
1|HE ZZ(EHTC) 27 90 117
1|1&H F—GEEZEED) 27 90 117
3|{EHh ETURETC) 63 63
3|H L HAB(GATC) 63 63
5|FH FIE(EHETC) 41 41
5[#)11 BERULRHUAMAE) 41 41
5|28 F—(BIGOT) 41 41
5|F1& IEFT—AR—X) 41 41
9 0
9 0




65 LU EBFATILRFTASYX VY (7TR15HEHE)



70U EBFSATILAFTASUFX VY (7THE15B8RE)
BuETL



—BExFHFTILAFTASU XS (7B 1588 E)

B = ED HZED |EEFE|ERK  |BESF |(MED N
iz E & (B B 1.18 G5 429 G3 [5.10G8 [76G8 [8.31 G5 |9.15 G3 Ak
1K FH@E@IAMIT7FI—IL) 90 90 180
21K B FBHIHhTFE—IL) 90 63 12 165
3|#H LEGERLUTC) 48 63 22 27 160
4|RF #E(GASCTT) 27 90 117
5|E K HF(ELyY) 63 22 85
58N FWAF—LILT) 63 22 85
7|#5E ESF(STTO) 48 27 75
1RH#F FEHK(ROSSO) 22 41 12 75
IFE GRS B 19 48 67
10[{E#%& 22F(ROSSO) 22 41 63
11[HA ZEBBEXELES) 19 34 53
12i 2R XEHEHXFELS 48 48
13|5E REBXFELS 12 34 46
148K HEHEEEKXZF) 41 41
148K FHLHENTC) 41 41
16| S5 EFEAWTC) 22 12 34
16|28 E3%(Qoo) 34 34
16|=5H EBEF@EILTC) 22 12 34
16| AH {ZFE@#HYETC) 34 34
16 = HE&hoh) 22 12 34
21| XK HBBEFHIHITFI—IL) 12 19 31
22|Fk BHEEXEILS) 27 27
23| Ex=%F F1E(enjoy) 19 19
24|BE[H 1R F(GASCTT) 12 12
24|8HK TEEXELS 12 12
24|H £EAEXEILS 12 12
24|8K I=K(B-B) 12 12
2|ZEH HBFB-B) 12 12
24/MNFEFHFE BHOIES) 12 12
2|BK BULVHLENLES) 12 12
31 0
31 0
31 0
31 0
31 0
31 0
31 0
31 0




A0 L E X FATILRFTASUX VS (7B15BBT#E)

B = ED HZED |EEFE|ERK  |BESF |(MED N
iz E & (B B 1.18 G5 429 G3 [5.10G8 [76G8 [8.31 G5 |9.15 G3 Ak
1|RKE EFURETC) 22 12 90 41 22 187
1[40 FEHURETC) 22 12 90 41 22 187
3| Li=%F F1FE(enjoy) 48 63 48 159
4B Bi%E(enjoy) 34 63 34 27 158
5{EEF HELVHENTC) 34 41 34 27 136
6|78 LFALEEE) 12 63 41 116
71| KIE HBF(BHIMhTFI—IL) 90 90
11EAR ERGBSHI7I—IL) 90 90
IIRAK EHEFULVHENTC) 12 63 12 87
10[ X AEFERLTC) 48 19 67
1Rl FIEFKELFE) 27 12 12 51
12|BER %" F(GASCTT) 48 48
13|A+j= ER(EHTC) 27 27
14|HBH &HIFFELUTC) 22 22
14| 2% EX@EILTC) 22 22
14[ERB HXF(Qoo) 22 22
14[IREK 1VAHA(Qoo) 22 22
18| FE EAI(ROSSO) 19 19
18/ i, EZEF(ROSSO) 19 19
18|H E #HrpE(enjoy) 19 19
21|58k AFEF(GASCTT) 12 12
21 {EARE RF(EDETC) 12 12
2088 BEFGHhIhIrzI—IL) 12 12
24 0
24 0
24 0




A5 L E X FATILAFTASVUX VS (7B15BBT#E)

B = ED HZED |EEFE|ERK  |BESF |(ED N
iz E & (B B 1.18 G5 429 G3 [5.10G8 [76G8 [8.31 G5 |9.15 G3 Ak
1[{£8% HF(ROSSO) 90 90
1B AIFFERLTC) 90 90
1|2 BFEOF) 27 63 90
WA TEF(EDF) 27 63 90
5[8AK HF(L\HENTO) 41 41
5|7kIF FEE(FHYITC) 4 41
5|BFH BEOEE) 41 41
5|8 FRHMF—LIALT) 41 41
9|#H BEGhILTYM 27 27
985K HBXFHILTYH) 27 27
1MErH#F EFHKROSSO) 19 19
11[{F#% 2AF(ROSSO0) 19 19
11[3RAK VAH(Qoo) 19 19
1A HXF(Qoo) 19 19
15|f81 EXF@RLUTC) 12 12
15[db# X (EDF) 12 12
17 0
17 0
17 0
17 0
17 0
17 0




508 LU ELXFATILRFTASYX VS (7B15BBT#E)

B = ED HZED |EEFE|ERK  |BESF |(MED N
iz E & (B B 1.18 G5 429 G3 [5.10G8 [76G8 [8.31 G5 |9.15 G3 Ak
1|HB#H &FFEUTC) 27 27 54
1|28 EXGEIUTC) 27 27 54
3| [RF(IVTC) 48 48
3| EWYIVTC) 48 48
5|Ely EF(EDF) 22 19 a1
6|/h\ith & EY(enjoy) 22 12 34
6|/MNA EFHFIAVIC) 34 34
6|IEAR HDFUAVTC) 34 34
9|5 lF MFAVTC) 12 19 31
9|XE EFULVHENTC) 12 19 31
11[EE BFEDE) 22 29
118R3% ZHF(enjoy) 22 22
13|BK #F(ELYY) 19 19
14[85K EEFJIVTC) 12 12
14[85K =2&(BBYSD) 12 12
14|ZH# HF(BBISD) 12 12
14| KB E=EF(CARWTC) 12 12
14[/h#k EEF(CEAIWTC) 12 12
19 0
19 0




558 Lt X FATILRFTASY XS (7B15BEB#E)

B = ED HZED |EEFE|ERK  |BESF |(MED N

iz E & (B B 1.18 G5 429 G3 [5.10G8 [76G8 [8.31 G5 |9.15 G3 Ak
1|578 AZEF(GASCTT) 27 63 19 109
1[MEAR fRFEDF) 27 63 19 109
1A RFAVTC) 19 90 109
1[iEA =YIVTC) 19 90 109
5|BHF BEOEE) 27 27
5|E K HF(ELvY) 27 27
7|9R FHFELUTC) 12 12
718K HEFERLUTC) 12 12




